There are 2 even roots of every positive number.

The answer from an EVEN

radical must be POSITIVE.
—J asks for the Negative Root "Principal Root"

unless... thereis a-orz
in front of the radical.
+/ asksforthe Pos & Neg Roots

The answer from an ODD
” radical can be anythin
J asks for the Positive Root (pOS or neg). yiing

Simplify each. Use absolute value symbols when needed.
A real number raised to an

EVEN power is ALWAYS
2 )
14. 3Yx2 = AxX*X' = X X

POSITIVE.

A real number raised to an
ODD power can either be
negative or positive.

15. 327e27gP = ey YFS



Simplify each. Use absolute value symbols when needed.
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Absolute value symbols may be needed when taking an even root.

Odd root.

Absolute value symbols are not used when taking an

If the result of an even root could be negative then absolute value symbols are needed.

This will occur when the result of taking the root is a variable raised to an odd power.

Simplify each. Use absolute value symbols when needed.
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Simplify each. Use absolute value symbols when needed.
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= Simplify. Use absolute value symbols when needed.
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S/ ¢ 7 Simplify. Assume all variables are positive.
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This means regardless of the index NO absolute value is needed.
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What was the original problem that produced the
answer shown above?
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Problems 43-46,49-54




